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Second Semester B.Com. Degree Examination, Sept/Oct. 2022
(CBCS - Semester Scheme) (Repeaters)
COMMERCE
Paper — 2.3 : Advanced Financial Accounting

Time : 3 Hours Max. Marks : 70

Instruction : Answer should be either fully in Kannada or
English only.

SECTION-A

1. Answer any five sub-questions. Each question carries 2 marks : (5x2=10)

a) Give the meaning of average clause.

b) What is account sales ?

c) State the methods of accounting for joint venture.

d) Mention any four features of dependent branch.

e) Calculate the actual amount of claim from the following details :

Stock on the date of accident — Rs. 1 .70,000

Value of salvaged — Rs. 15,000

Expenses incurred for extinguishing fire - Rs. 6,000

f) Give the meaning of departmental accounting.

What are non recurring expenses ?

9)
P.T.0.
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SECTION - B

Answer any thrce questions. Each question carries 6 marks. (3x6=18)

2. A fire occurred in the premises of Vijay Co. on 15-10-2021. Some of the

accounting records were saved from which the following details are available :

Opening stock on 1* Jan. 2021 Rs. 90,000

Purchases from 1-1-2021 to 15-10-2021 Rs. 4,00,000

Sales from 1-1-2021 to 15-10-2021 Rs. 6,00,000
Rate of gross profit 30%
Rs. 16,000

Salvage
It was the practice of the company to value the stock at 10% less than cost
The amount of policy Rs. 60,000. There was an average clause.

Prepare a claim for insurance.

Mr. Nandu of Tumkur consigned 500 Kgs. of oil @ Rs. 30 per Kg. to Santhu.

He paid Rs. 4,000 as carriage and freight charges. Mr. Santhu also paid
Rs. 1,000 towards unloading charges, Rs. 2,000 as godown rent and Rs. 1,500
as selling exp. Normal loss due to leakage is 40 Kgs. of oil in transit. Santhu
sold 320 Kgs. of oil @ Rs. 55 per Kg. and 19 Kgs. of oil @ Rs. 60 per Kg.

calculate value of unsold stock.

Savitha and Swpna are entered into a joint venture sharing profits and losses
in the ratio of 3: 2. Savitha contributes Rs. 1,20,000 and Swpna Rs. 1,60,000.

The amount contributed by them were deposited into a joint bank account.
They bought goods for cash Rs. 2,00,000 and from Savitha for Rs. 80,000.
They paid for carriage Rs. 15,000. Rent Rs. 4,000, Insurance Rs. 5,000 and

other expenses Rs. 9,000. All the goods were sold for Rs. 3,50,000.

Prepare necessary ledger accounts.
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5. Murthy Ltd. invoices goods to its branch at cost. From the following particulars
prepare Branch Account for the year ended 31-3-2022 in the books of Head

Office.

Rs.

Branch stock on 1-4-2021 66,000
Branch stock on 31-3-2022 78,000
Branch debtors on 1-4-2021 42,000
Branch debtors on 31-3-2022 59,600
Cost of goods sent to branch during the year 3,60,000
Sales at branch :
Cash 1,80,000
Credit 2,93,600
Cash received from branch debtors during the year 2,76,000

20,420

Branch expenses paid by H. O.

6. A firm has two departments P and Q the following information related to the
trading period ending 31-3-2022 :

P Q Total
Rs. Rs. Rs.
Opening Stock 10,000 14,000 24,000
Purchases 84,000 1,04,000 1,88,000
Sales 1,60,000 1,86,000 3,46,000
Purchase returns 4,000 4,000 8,000
Sales returns 4,000 4,000 8,000
Carriage inwards e — 9,000
Power - - 12,000
Wages - - 22,000
Closing Stock 8,000 24,000 32,000

Wages are to be allocated in the ratio 5 : 6 and the power in the ratio 1 : 210

the Department P and Q respectively.

Prepare Departmental Trading Account in Columnar Form.



101 A MU

-
SECTION - C

63221

Answer any three questions. Each question carries 14 marks : (3x14=42)

7. A fire occurred in the premises of Bharath Ltd. on 1-4-2022 and stock was
destroyed. The stock salvaged was Rs. 28,000. A fire insurance policy for

Rs. 1,71,000 was taken to cover loss of stock by fire. Find out the amount of

claim from the following particulars.

Rs.

Stock on 1-1-2021 1,44,000
Stock on 31-12-2021 2,42,000
Wages paid during 2021 1,00,000
Wages paid during 1-1-2022 to 1-4-2022 18,000
Purchases for the year 2021 9,38,000
Sales for the year 2021 11,85,000
Purchases from 1-1-2022 to 1-4-2022 1,82,000

2,40,000

Sales from 1-1-2022 to 1-4-2022
Fire also broke out on 21-12-2021 and destroyed the stock of the cost of
Rs. 50,000. These was practice in the concemn to value the stock at cost less

10% but all of a sudden this practice was changed and stock on 31-12-2021
was valued at cost plus 10%.

M/s Rahul and company consigned 3000 tins costing Rs. 600 per tin to their
agent Madhu Stores, Kolkata. The tins were invoiced at proforma price of

Rs. 800 per tin. The agent sold 1800 tins at Rs. 810 per tin for cash, 800 tins at
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Rs. 850 on credit. The Rahul and Co. paid Rs. 10,000 as freighXand Rs. 4,000
as insuranco. They drow a bill on Madhu stores at 3 months for Rs. 12,00,000
which was duly accepted by the letter. The expenses incurred by the Madhu
stores were carriage Rs. 1,000, Octroi Rs. 3,000 and storage rent Rs. 2,200
they were entitled to 5% commission and 2% del-credere commission on total
sales. They sent their account sales to their principal showing as a deduction

there from their commission and the various expenses incurred by them.

Prepare necessary ledger accounts in the books of M/s Rahul and Co.

9. Arun and Varun entered into a joint venture and agreed to share profits and
losses in the ratio of 3 : 2 after providing for interest on capital at 10% p.a.
A joint bank account was opened in which Arun deposited 8,00,000 and Varun
deposited 4,00,000 on 1-4-2021. Goods purchased for Rs. 7,50,000 in cash
and was sent to Bengaluru agent for sale. Freight and insurance amounted to
Rs. 15,000 was paid. All the goods were sold by the agent for Rs. 14,00,000.

The agent remitted the balance amount after deducting his commission at 3%

and expenses of Rs. 8,000.
Prepare :

a) Joint Venture A/c

b) Co-venturer's A/

¢) Joint Bank A/c and

d) Agent's A/c in the books of Joint Venture.
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10. Lokesh traders Mangalore invoiced the goods t
20% profit on Sale. Branch advised to deposit cash every

and all payments are made by H.O. except petty expens
the branch manager. From the following particulars prepare b
ascertain profit or loss of the branch.

o their Bangalore branch at
day to H. O. account
es which are met by
ranch account to

Rs.
Stock on 1-1-2021 (Invoice price) 60,000
Petty cash on 1-1-2021 1,200
Debtors on 1-1-2021 34,000
Furniture on 1-1-2021 8,000
Cash sales 2,24,000
Total sales 3,52,000
Cash from debtors 1,14,000
Goods sent to branch 3,20,000
Discount allowed 1,000
Petty expenses 1,440
Goods returned by branch 4,000
Salary due on 31-12-2021 1,600
Payments made by H.O.
For Rent 9,600
For Salary 16.800 26,400
Furniture bought on 1-7-2021 6,400
Stock 31-12-2021 (Invoice price) 48,000
Bills receivables on 31-12-2021 8,000
Sales of furniture on 1-7-2021 (Book value on the
3,600

date of sale Rs. 3,800)

Depreciate furniture at 10%
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11. From the following particulars, prepare the departmental trading and profit and

loss account for the year ending 31-12-2021.

Dept. X

Rs.

Opening Stock 14,000
Purchases 75,100
Sales 1,00,000
Returns outward 1,100
Salaries 9,000

General Salaries
Rent and rates
Advertising
Insurance

Carriage outwards
Discount allowed
Discount earned
Accountancy charges
Carriage inwards

Additional information :

Dept. Y
Rs.

12,000
69,800
80,000

800

8,500

Total
Rs.

26,000
1,44,900
1,80,000

1,900
17,500
11,600

6,000

8,100

1,000

5,400

1,800
1,430
2,860

1,430

1) General salaries are 10 be allocated equally to both departments.

2) The area occupied is in the ratio of 3 : 2.

3) Insurance premium and accountancy charges cannot be allocated

conveniently to any departments.

4) Closing stock of Dept. X was Rs. 16,000 and that of Dept. Y

Rs. 17,000.
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1. Immediately after the commencement of the Examination, you should check that this
Booklet does not have any unprinted or torn or missing pages or items, etc. If any
of the above defects is found, get it replaced by a complete Question Booklet of the
available series.

2. Write clearly the Question Booklet Version Code A, B, C, D or E in the appropriate
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Each question contains four answers, among them one correct answer should be
selected and shade the corresponding option in the OMR sheet.

5. All the answers should be marked only on the OMR sheet provided and only with a
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1. The frel Hydroeloctne Project in Westem Ghats (5

A) Sharavathl Preect 1)) Varahi Pro,oct

C) Ra\mranangal Project D) Si'ant VaTay Projsct
DEPuIFdmvloas el

A) Ty elanus B) Sl eates

C) n e clarss D) fZ =9 cSarss

Serious cnvironmental impact of Tsunami in Japanis €ua to

A) Earth quake B) Nucloar accident
C) Scawaves D) Vo!cano
LmiT LS T TR TR RIS

A) Za¥Z B) SN edRnI

"ﬁl -
C) Z==Zgesnd D) ==, &0

r

3. The major effcet of global warming is
A) Animats will dio
B) Aguatic plants will die
C) Crop production and yic!d will be decreascd
D) Glaciers will melt and sca level increased
o Pridag ] v.:::g,‘:'::ﬁ == ol g
A) =T
B) meuoi =T
C) 7% e =i
D) e venrdnggThuz) oed
4. ACB 3N Causes
A) tiglso peTution B) Alr pelution

= - d -y
ety A AT Y S

C) Thoma! peten D) Sellparuten

-‘ . - amry i @t
A) TRl B) =gy O =Rty D) =W
) ’ CPACE FOR ROUCH YIOTTH



96012 |\
5. Geothermal energy comos from
A) Wind
C) Burning coal

B) Heat inside the earth
D) Sun's heat

Soeoos _ Qo w3,
) - por
A) ¥ B) 4in ©o3oo¥ Do

C) ¥95wo woobPnoed D) ZBRohFs oo

6. January 24™ is celebrated as
A) Mother's Day
C) Children's Day
=TSO 24 ToTd Sixienioolectal
A) =23 OF
C) =3¢ o3

B) Republic Day
D) Girl Child Day

B) nesooedn 3R
D) Sea) d30 o3

7. Expansion of HIV is
A) Human Invitro Virus
B) Human Immunity Variability
C) Human Impotent Virus
D) Human Immunodeficiency Virus
. .8.00 WWT BRT
A) TR o R FOX
B) @paw 2|, Seoodedes
C) zR= qogipiows JOx
D) TR FRRERRIB0IR, iy

SPACE FOR ROUGH WORK
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8. GIS stands for

A) Geographic Information System
B) Geological Information System

C) Genetic Information System

D) Global Information System

22, 20.29A°. NORT

A) iR T faﬁgeﬁ:reéaf ARET
B) zodrecnise’ caégea’orezﬁa‘ ARZ*
C) €333 faa’ug,eabreefaﬁ :-:;.-'\jj:b‘

D) riRse’ BRReEF 8T AR

9. What is WHO ?
A) World Human Office
B) World Health Organisation
C) Wide Human Organisation

D) Wild Health Organisation
ZwR, T L Q0TTE ?

A) TSF TBRIT SHE

B) 3ofF & Shtaptoay
" enFFReEES’

“ —
C) S’ TR,

D) 3¢ @] EHGR ey

e e

SPACE FOR ROUGH WORK
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10. Indian Government declarod as ‘Womon Empowerment’ yoar.
A) 2001
B8) 2010
C) 2005
D) 2011
ROE RO
A) 2001
B) 2010
C) 2005

D) 2011

Pt AP L
SRS ‘Sotove BLOdEy SRFEoTd RN,

Which one of the following is an example for an artificial ecosystem ?
B) River

D) Grass land

11.
A) Pond

C) Paddy field
B3 EINTZYNYY oI g8 Joxo q,s:ggt 20T LWTHTOLIINNES ?

A) €8 B) =0
C) w2 ng D) Twymmen

Separate the abiotic components of the ecosystem.

A) Plants, Animals B) Organisms
C) Organisms and Water D) Light, Air
ZOXT a;wgwg S PrETE) CatAL AN
A) zﬁ:gm:b, TR, 30

C) zearieh =03 Letd

12.

B) 2enwd
D) ugd, e

SPACE FOR ROUGH WORK
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13. Identify the decomposers.
B) Algae

A) Frogs
D) Plankton and algae

C) Bacteria and fungi

QRN DT WERNTRO, noco3A.
A) SIS0

C) wR,3$00un R dOeoNEd

B) Townw
D) F[gensh R0 TRUND

14. The numbers of these are the largest in an ecosystem.
B) Primary consumers

A) Producers
D) Tertiary consumers

C) Secondary consumers

ioRd Y RRY, AR oz Sde By,
B) mEas eriReNiE

A) wa__}dﬁdn
D) g@eod 903 RENTEL

C) Qe eRenTed

15. The environment includes
A) Abiotic components only
B) Biotic components only
C) Biotic and abiotic components

D) Water and air

TORTD) 2T, wSriRoRT.

A) exs PLBNIR, =R,

B) 3 PLIBI, =3,

C) @m 02 S DLIBALD
D) Qed) B oY

SPACE FOR ROUGH WORK
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16.

17.

18.

Migration is
A) Movement from one place to other
B) Periodic movement back and forth between two areas

C) Change in habitat
D) Living in one place
Sux &N

A) et FEoed 2R SRR BeerHmd

B) <8 0,03 ¢ SR Qo Teen wiRHEO
C) 32T win=es

D) woTe 2909 2edmRPTHd

Man-Tiger conflict is often reported in
D) West Bengal

A) Tripura B) Kerala C) Tamil Nadu
TOO-TRTT WL BT SOOIRTGT Oo%,
A) &Zo B) $ec¥ C) 3a%bard D) =5 worwd

What is Ex situ conservation ?
A) Conservation of a species by protecting its habitat along with all other living

species living there
B) Conservation of forest ecosystem
C) Conservation of a species outside its natural environment

D) Conservation of plants

Tr0 5 HoUgEE Qorded ?

A) ZRITHTOT Trlemnds) eS0T weand wndn ROTEROHTO
B) <0, @oxd a;:s'z;ojo leler {4

C) #ANF3 Zox0TE TR Byiena RoUgFs

D) 7znY Heudrs

SPACE FOR ROUGH WORK
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19. Tsunami is caused by

20.

21.

A) Earthquake on land

B) Tidal waves

C) Sea bed earthquake

D) Volcanic eruptions on land

TSV 00T LVOLRNIBE.

A) 3083003 t3R%0TS

B) 33033 wz&d—a@@! adndHd

C) =R03g S 380u

D) wraocd S0ed = SESRERE WRFIR

Biomedical wastes are generated from

B) Chemical industries
D) Atomic power plants

A) Hospitals

C) Dyeing units
2es3 780D TBND 0T GUBCIRTZT.

A) ©RINH B) 0omo0RRE §Twosntd
C) wep T8I eoT, D) SoRmeed TFTNO

of the earth surface inhabited by living organisms is
B) Lithosphere

D) Biosphere

The region
A) Atmosphere

C) Hydrosphere

zie;on"#i@f#ﬁ.ractﬁ 23RN0 TRs patale)
A) soodoneed

C) monne

B) dooriee
D) BeSRRE

SPACE FOR ROUGH WORK
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22. Major aim to include Environmental studies
A) To consaerve the environment
B) To improve the quality of society
C) To protect wild animals
D) To conserve plants se3
TORS e cRTR 58 IO BVERATS S0, YL
A) Toxo ::cc‘ir:‘mn
B) sxXnx=s mmmw 'a..’z.gj:bd;do
C) SFreond ﬁodiitffmh
D) L‘ﬁaﬂ'# #cdg:ﬁnan

in educatio

23. The development which causes minimum damage to environment is
A) Rapid development
B) Sustainable development
C) Progressive development
D) Slow development
QRS T.

TORTE, 2,03 TR THVOLVOLOTRERT ORI 0N 5
A) de33, sepa:j)%
B) zm&d Qﬂ?,‘DE:éQ’
C) Snddew e;ez;%%
D) <oe ezpduQ
24. The World Environment Day is celebrated every year on
A) 1 January B) 5" June
C) April 22 D) June 11
T3 F7iF WY, TR0 OTTrEonR) B0 523013 eI,
A) z330 1 B) wna* 5 }
D) =es* 11

C) w22

SPACE FOR ROUGH WORK
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25. Medha Patkar is known for

26.

A) Chipko Movement

B) Appiko Movement

C) Save Narmada Movement

D) Save Western Ghat Movement

oeRTUT” B4 FO0ET,N a;xacédo

A) BIZRe 13- S ilovelela]

B) waidnee 2BTPo0T

C) IF T YRR WehIPo0T

D) a‘%ﬁ:ﬁuﬁ#@t PR 23TOTLOWCT

Gas associated with Bhopal gas tragedy was
A) Phenyl iso cyanide

B) Methyl iso cyanate

C) Benzene

D) Chloro fluorocarbon

RPN BV oot TOLODAT BV

A) e 2%p ROLIFT*

B) aoeg’ 08R BoDJees*

C) da e’

D) $nedne FRICREWFT

Chernobyl nuclear disaster took place in the year

27.
A) 1908 B) 1986 C) 1970
deue* 8R30500° o003 Roons SRE
A) 1908 B) 1986 C) 1970

SPACE FOR ROUGH WORK
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D) 1980
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28. The following is not a layer of the atmosphere

A) Troposphere

B) Stratosphere

C) Mesosphere

D) Themosphere

81 TINIINYY aIRPYD svadoreeds TEoHEY, ?
A) Hregpercdo

B) mﬂeirae@_,woc‘

C) Qoerpeacdo

D) z&nreuodo

29. Air pollutants on mixing up with rain water make it

30.

A) Acidic B) Basic
C) Neutral D) None of these

000 ToITETENE WoFOD VDTG BT TOOT LtTONIZT
B) Zzn80d
D) conyme @

A) e0e0D
C) s’

Acid rain is caused by increase in the atmosphere concentration of

A) O, and CO B) SO, and NO,

C) SO, and CO D) CO, and CO

a3 oV T OIRREVT B4 FFNTRINTE, ZRN ﬁeogeﬁdwﬁmﬁﬁ)d&)od
SUOLRTZT,

A) O, =2 CO
C) SO, =2 CO

B) SO, &3 NO,
D) CO, 3 CO

SPACE FOR ROUGH WORK
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31.

32.

Renewable resources include

A) Water B) Coal
IDeTOTDRT xoﬁd@vﬁodtﬁ
A) e B) ﬁgqam
Forestis a

A) Renewable resource
C) Artificial resource

FE 20T
A) IREBORWIBITT ROTINRY
C) 328 RoTIQY

Flood is
A) increase of water in water bodies

B) increase of silt in river
C) increase of silt in ponds
D) encroachment of land by water

TToT oTY

A) 2603 STONYE Q0T k3 008
B) sondd @mesh 200wodd

C) 3BRFE BRH J00NF

D) Sl umqmrb@cb

Natural cause of deforestation
A) Forest fire
C) Mining
e:dr%mdd z:gzapaaﬁ 50
A) BV

nw
C) nedrwod

96012

C) Charcoal D) Minerals
C) Qo D) Samnwd

B) Non-renewable resource
D) Exhaustible resource

B) SQ¢3ORRNT ROTIRY
D) s»OoIRRE RoTIRY

B) Over grazing
D) Construction of dams

B) oeesoed
D) erdgd, IRRFED

SPACE FOR ROUGH WORK
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35. Present total Forest arca of India
A) 12% B) 15% C) 17% D) 19%
RTET S0 s eodry Jaded
A) 12% B) 15% C) 17% D) 19%

. Green plants of an ecosystem are also called
A) Heterotrophs B) Autotrophs
C) Primary consumers D) Chemotrophs
TORT S THoW T RENID SatE folovorcolel
A) BT et Benned B) = cdozpesd Relnd
C) =33 wgsd D) ComodRd Zpead e

(&)
[97]

37. _________ one of the most endangered species of Indian bird.
B) Paradise fly catcher

A) Bee eater
D) The great Indian Bustard

C) Owl

RUSEY 3 03 Tt ST LousRITN T

A) = oz B) =0dx 3 w30

C) n=dd D) O Rets® wolodd wiEs

Which animal of the following is not endemic to Western Ghats ?
B) Nilgiri Thar

A) Lion Tailed Macaque
D) Langur

C) Malabar great hornbill
51 9N CIRYTH TEROTRE T 3o ?
A) racTeed B) devnd o*

C) Duwmo’ few’ R ruy D) oxbs

™

e

SPACE FOR ROUGH WORK
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39. The type of forest found near sea shores is

A) Mangrove forest B) Deciduous forest
C) Evergreen forest D) Thorny forest
TIOTT BT TEAATOI T

A) 50T WO B) o% sutboRI Tord
C) 2, TOT,LF T W D) 05 Boriod 2@

40. Biodiversity hotspots are
A) Have more endemic species
B) Have more number of population
C) The organisms at hottest places of world
D) Only present in the sea
e F PP ID VTSN
A) Z3F T,08€0D Ternds) BROOT
B) aé’zsﬁ udﬁo&%oﬁ:ﬁg‘ TRODT
C) 23,3 B W BBBT T30
D) =05 HRg AT

41. Taj Mahal at Agra may be damaged by
A) Acid rain
C) Hydrogen
TR TYTRE T T’ BB, TLORBILBOR.
B) @smaﬁ VO
D) sRw8

B) Natural rain
D) Oxygen

A) &) BV

C) mewds

SPACE FOR ROUGH WORK
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42. Blue baby syndrome is caused by

A) Water B) Air

C) Soil D) Nuclear hazard
wpweddeen 0ot wdb3d.

A) Qed B) ™%

C) Soy, D) TO=RED T,

43. Sound becomes noise pollution at decibels
A) Above 30
C) Above 100
) B2 STRN B BROZTMZE.
A) 30 303 T, B) 80 %oef ﬁzﬁgﬂ
C) 100 %03 ﬁ"’*’% D) 120 {;jos 5"23%

B) Above 80
D) Above 120

44, Environmental pollution refers to a in the atmosphere.

A) Desirable change
B) Undesirable change
C) Drastic change

D) Slow change
SoodoreedEeRnS

A) eBes WHRTIHB

90 TORT BROT, AROWT0.
= ) Y

B) exHes WECRED
C) 3w, wicRREH
D) 2R3 wiensms

SPACE FOR ROUGH WORK
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45. The first and foremost purpose of the Wildlife Protection Act is to

A) Protect the habitats of wild animals
B) Protection forest from wild animals

C) Legalise hunting
D) Protection of human beings from animals

TSIV RoUZ S F200TION T0D YuTIeS
A) TZe3eNS SRR FoTFR

@ “h
B) 3&%3‘38&321@05 ©089, FOTTFS
C) etdoInBRTY, @mmw%ﬁm@z‘o@cﬂa
D) SFeeanoon BRI TR0

46. Alternative energy resources are

47.

A) Solar energy B) Petrol energy

C) Diesel energy D) Mineral energy
TR, 0% FEROTIRY QTNT

A) 7°CZ8 B) Stine

C) @Re’ D) 2wy

Fresh water in the hydrosphere is percent.
A) 2.5 B) 30

C) 13 D) 33
zonRREnY 3688 2RO LOSIT.

A) 2.5 o B) 30

C) 13 D) 33

SPACE FOR ROUGH WORK
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48. Earth Summit 1992 was held at

49.

50.

51.

A) Rio-de-Janerio

C) New York

1992 d i Jensyd s 15.}*
A) © ;\‘—Q*t‘.}?\a; o

C) z.r:;a:ms'r

The basic functional unit in ecology is

A) Organism B) Environment
TIROLOD TRFWT WOLFRTFTE Lont
A) e B) =oxd

The term “Ecosystem” was first coined by

A) E.P. Odum
C) Karl Mobius

110

[TITICNLT

B) Stockholm
D) Geneva

B) my @t
D) z23&w

C) Ecosystem D) Earth

C) So=0RIK D) e

B) S.A. Forbes
D) A.G. Tansley

T TP RO “adReATFT” ﬁdﬁaﬂi evZodrenaTad.

A) a.&. LEIS
C) mofs Srewodx’

The food chain ends with

A) a large herbivore

C) a carnivore

&30 BoZwodo 29 deinedyZa.
A) Cr Rm,a0

C) SIncmTd

B) &% Fpes
D) <.z wnd ¢

B) an omnivore
D) decomposers

B) Q030
D) Qg aled
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52. Detritus food chain starts with

53.

55.

A) Sunli

C; Consirr:ers E; gzztn e
BRYEQ 4ToT8 NOTR wsoed Baneleamnnls Sl ab) N

A) BRODLFS s B) @ad nEnds

C) e3>ynenns D) 3900 SRne:

Identify the man-made ecosystem.

A) Aquarium B) River
C) Stream D) Ocean
WRTT LF S ToORT FIRoD) MOTEA.

A) &‘mabé.raegd B) 30
C) 2238 D) m»no

The pattern of eating and being eaten is known as

A) Food web B) Energy flow

C) Food chain D) Ecological pyramid

200030 23e0RTY, DFRROT e ST =2 SO 80300, 32T.
B) 230 30

A) &ST00 O
D) 0T &80T

C) o8 A0

Herbivores are examples for

A) Producers

C) Secondary consumers
7l LUTRTOLS.

B) Primary consumers
D) Decomposers

7R, B0
A) ©UZTITO
C) ©,3¢03 §3Fe0

B) m@as wiEEd
D) QEpLss Rednwd
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56. London smog causes

A) Difficulty in breathing

C) Diificulty in digestion

CCTT MO YVOLRNIZT.

B) Difficulty in drinking
D) Difficulty in excretion

B) #&2g, Aoleate)

A) RORT 2nold
D) QRwFan 3poT0

C) BeearTd Srotd

57. The name Maneka Gandhi is related to
B) Silent Valley

A) Protection of Animals
D) Narmada Bachao Andolan

C) Chipko Movement

FET Mo JBITO FoWoHAT
B) mou 2,9

A) 2,8 BT
D) SoF oo wiRwRe SorRews

C) wuzpe SoBRed
58. Petroleum is what type of energy resource ?
B) Synthetic

A) Inconvenient
D) Non-renewable

C) Renewable

Zeinedodo cdRE Dedod 3§ ROTTIRVWINT ?
B) gg%

D) IDeF0ROINT

A) “IBRO
C) SFORWIBITT

59. Which of the following pathogens cause AIDS ?

A) HAV B) HIV C) HBV D) HCV
B3 BN IR TR IB' dramﬁ; To00 9
A) T, B) LW 2. C) T 0.0 D) .2

SPACE FOR ROUGH WORK

26



(R
=1 96012

60. What is the aim of the project ‘Stree Shakthi' ?

61.

62.

A) Promoting the birth of girl babies B) Giving bravery awards to girls

C) Empowering women economically D) Uplifting the energy level in women
'Ng 33 :g:f’f:a'j B eTEesdd ?

A) TeaR OROOT wRSTR) eogesoRyd  B) Beay Wen ZEobr Tz SR
C) sQFEmN Ao JuonevaoRdwd D) agoddo %3%5&'&&?6&:@&

The Red data book is published and updated by
A) International Union for Conservation of Nature (IUCN) and Natural Resources

B) NGOs of local area
C) CITES
D) Govt. of India

5@ wot» PYFTE TFoTFT WK D EBORBITYTO
A) QOUT TR RO’ 0" FHRF B ST Se30” 80w U0 DARETF

B) ,7368% . 2% L. W0
C) 2.2.88.0.0%".
D) 502 B5oF O

Shola is
A) The vegetation of valley

B) Coniferous forest
C) Plants grow near sea coast

D) Endangered species

Zen aﬁg{d)cb

A) Bedzodd Tomd

B) 3persmoondoy, LDIEY

C) #dwajéedd@mzﬂﬁomﬁ #:qsﬁdo
D) wmBs BosRdDR e Tl
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63. Total 40% of endemic plants of India are in
A) Eastern Ghats
C) Deciduous forests
2030 Fedmo 40 TR, FFeoD gzﬁedﬁ@m@d}
A) Tp=F E;'fbijﬁ@a
C) @ SUTIORI TOT

B) Western Ghats
D) Himalayan region

B) mb0 FUNP
D) &RROOP Bes

64. Example for In situ conservation
A) Botanical Gardens
C) Biosphere

B) Zoo
D) Allthe above

20> 36 RoTEER GoTHEOs
A) ﬁ"a.r%emﬁa‘ B) o3 ?:;’o[i,aSDOOED
C) emnne D) R0eHT FOTP

65. Biodiversity is more in
A) Terrestrial habitats

C) Marine habitats
236 dd&)qfdé 2ag, £z§}:3
A) 20003 Boed

C) ASNTT o=

B) Fresh water habitats
D) Desert habitats

B) 2&e0s SSNYY,
D) R805RR0cs SSNYY,

Forest Conservation Act enacted with the object of
A) Avoid deforestation B) Encourage afforestation

C) Conservation of forest D) Encourage reformation

€503, BOTTERD FOWTIOD LT
A) €503, T3 SEIFTO B) ©08,e80ta3, wu et ROy T)

C) 0, BoTIR BRBRYTO D) @53 5084 80esd, o

66.
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67. In India endangered animals aro listed in
A) Environment Protection Act, 1080
B8) Wild Life Protection Act, 1072
C) Forest Conservation Act, 1080
D) Indian Forost Act, 1982 (revised)

B9 weYduesadtzoed Smeind S ad
5 - w ‘
A) SOXT =TI wotsd, 1986
B) SFMS ReTYID Tekd, 1972
C) eI ReTErn moied, 1980
o -~ -
D) tRodecd eTrs, ReTdrm metd, 1982 (T0oAT)

68. Natural resources like minerals, coal and petroleum are called

A) Non-renewable resources B) Renewable resources

C) Biotic resources D) Abiotic resources

sommnids, OTue B Jlne TeIT FRNTE mm@smmn& ielovobviot )
-

B) SQFORLERT ReTHRENT

A) DECRNT ReTARLND
D) s ReTRRYNW

C) 2238 ReZRRLAD

69. Major contributor of the increased greenhouse effect

A) CFCs B) CO,
C) Methane (CH,) D) Nitrous Oxide (N,O)

ivt Lo b &%bmd.*g RO T, VLY
A) 2 OF . A TR0
C) aege (CH))

B) ©women du SER
D) Fu~ «d o (N,O)

70. Thinning of ozone layer is called
A) Ozone hole B) Ozone block

y sin e TEos e ool S Levo8) =3
B) wdse wed

C) Ozone star D) Ozone plate

A) botnet O0Q
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Il Semester B.Com. Degree Examination, ScptcmbcrlOctober 2022
(CBCS) (2014 - 15 and Onwards)
(Repeaters)
COMMERCE
Paper — 2.5 : Banking Law and Operations

Time : 3 Hours

Instruction : Answer should be completely either in Kannada or

English.

SECTION - A

NTN—-D

Answer any five questions. Each question carries two marks.
CIRT TCR I IR Yugdr. B3 FIRe STW SoIND.

1. a) Define the term banker.
R, CI0, TP
b) Give the meaning of bills of exchange.
22T ook ITT wqﬁrdail D,
c) Expand NEFT and RTGS.
NEFT =52 RTGS esa.l DROA.
d) Who is collecting banker ?
ol anleRantel log Q0TT 0IRT ?
e) What is Garnishi order ?
MoRFd &T3e8 200060 ?

f) What are non-performing assets ?
22,800 &3 OBV 7

g) Give the meaning of blank endorsement.

529 LTI STF I Ve,

30

UG - 254

Max. Marks : 70

(5%2=10)

P.T.O.
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SECTION - B
fatiord s Bl &)

Answer any threo questions. Each quostion carries slx marks (3x6=18)

CIRT Tdn et JRe tuou I3 Jdrie ued eacsrio.

2. What aro the advantages of credit cards ?

Fou oat v edecdndD SV

3. Narrate any six significant reasons for the dishonour of cheques.

SEShEEY éa‘:gaz.’w QT CIRFYTRTTR GO BTENVE) SVA.

Explain the types of bank accounts.
DU DLW wR,cT SRINIR, QO

Explain the circumstances in which banker can close customer account.
Frdy, mﬁca’dza ng,a‘#aﬂ m&’:mdi m@w@& FATn (o}

o — o oy
R ~CW

Write a note on duties of collecting banker.
SReOmT 1,080 S BN Soed £33r3 WBCW0.

SECTION-C
-4
(3x14=42)

Answer any three questions. Each question carries fourteen marks.

IR TEER SRt Jgnen 30k, F3 TITe BOTIR £SCTNT0.

Define the term negotiable instrument. Explain the types.

, 0303, IreF ST TSI TIT0A ST0 AFNTRO DTOA.

8. Explain the general relationship between the banker and customer.
13, c30° TR @ RN RRF, ReLOPNTR), QIO

Briefly explain the principles of bank lending.
BTN SFORORT 3:{57{9'55% Rod I SO

f

oy T\o

23%53' o o

10. Briefly explain the recent trends in banking.
=, céer’ ZoontOE 03 ads FFIRVRD DTOA.

What are the precautions to be taken by the banker in opening and operating

a Minor's account ?
e F e s odor) 2030 S0 euid QRFTrond 19,085 SRR RYITT

o gnRD) ?

11.
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Il SEMESTER B.COM./B.B.A./B.H.M. P ]

EXAMINATION, SEPTEMBER/OCTOBER 2022 b= g

Version Code (Repeaters) (CBCS) S =
P (2014-15 and Onwards) -1 e
L ENVIRONMENT AND PUBLIC HEALTH &, =
k 7 z
- (Non-Core) o

Time Allowed : 3 Hours Maximum Marks : 70

e

-——

- INSTRUCTIONS TO CANDIDATES
" 1. Immediately after the commencement of the Examination, you should check that this

Booklet does not have any unprinted or torn or missing pages or items, etc. If any
of the above defects is found, get it replaced by a Complete Question Booklet of the

available series.

2. Write clearly the Question Booklet Version Code A, B, C,Dor E in the appropriate
space provided for the purpose, in the OMR Answer Sheet.

3. Enter the name of the Subject, Reg. No., Question Booklet version code and affix
Signature on the OMR sheet. As the answer sheets are designed to suit the Optical
Mark Reader (O.M.R.) system, special care should be taken to fill those items
accurately.

4. This Question Booklet contains 70 questions carrying equal marks. All questions must
be attempted. Each question contains four answers, among them one correct answer
should be selected and shade the corresponding option in the OMR sheet.

5. All the answers should be marked only on the OMR sheet provided and only with a
black or blue ink ball point pen. If more than one circle is shaded / wrongly shaded /
half shaded for a given question no marks will be awarded.

6. Questions are in both English and Kannada. If any confusion arises in the Kannada
version, please refer to the English version of the questions.

7. Immediately after the final bell indicating the closure of the examination, stop making
any further markings in the OMR Answer Sheet. Be seated till the OMR Answer Sheet
is collected. After handing over the OMR Answer Sheet to the Invigilator you may

leave the examination hall.
ToRt : ARLIENY 0@ &538000 83 P oI, SO, TOLIT. J

-
&J
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. Insulin is secreted by

UG - 440

b) Pancreas

a) Liver

c) Spleen d) Thyroid

- 2 . S58) st et

a) ::.gd_., b) ScedneeieTInicd
c) oy d) zg"caa.uu
Cholera can be fatal if it is not treated within

a) 12 hours b) 24 hours

¢) 36 hours d) 48 hours

AL ng uuwm F\-\D\Jﬁ ?.3‘33 R‘d@dd

a) 12 ricdnd
c) 36 rictinsd

nERImN T osTD riﬂzi

b) 24 Houinsd
d) 48 rosinsd

Which of the following problems is not created by noise pollution ?

a) Diarrhoea b) Hypertension
c) Deafness d) Irritation
wWERITHoT B EINS oS 2038 suotRnY0L 7

a) e3oTcd b) I8T33

c) B3I d) 3030

Plants are green because of the presence of a pigment called

a) Glucose
c¢) Chlorophyll

b) Nitrogen
d) Oxygen

TAN TACNTZTT, F0ERNTOS Smrq:k

a) N’

Cc) TZTOR

—

b) RTRTE
d) e=ouss
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5. Tetanus can bo prevented by

a) Ayurveda b) Allopathy
c) Yoga d) Vaccination
mmrw 20 Sned Sdﬂu.pmda
a) saxoders b) esdped
c) cdnent d) 28n8) o0,
6. Bacteria are known to cause
a) Cholera b) AIDS c) Malaria d) Measles
13,8 00IRMYOT YVOERTLE Fo0WE
a) U b) ww® c) SoSedoIR d) ©wed
7. Global warming refers to increase of
a) Humidity b) Air pollution c) Acid rain d) Temperature
2RTIET SO LV eDRITHTO a"mde
b) ToinIROF  €) SRV d) wsmos

a) w008
The development which causes minimum damage to the environment is
a) Rapid development

b) Sustainable development

c) Progressive development

d) All the above

woz,’dg 5@% TR LVOLDIRTBID ezpagﬁ?p

a) 308 en 0

b) ﬁazé)d ez:,dua@

c) Znezo e;ezpq:po

d) e 0T
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9. "ltai-Itai” diseases caused duo to the oxcoss of
a) Cadmium b) Zinc
c) Copper d) Mercury
oINS :J:s__;: 203003 LR OB - ALDOD T YVOLRTORYTO ?
a) HGoe b) &3

C) W d) s»Tos

10. Jaundice is related to the malfunctioning of

a) Pancreas b) Heart
c) Kidney d) Liver
HTRSOID CIRET LRXOTFE TODFY, RoLoRAT ?

a) oedeeios Red b) Z@oL

c) S0 d) g

11. Which of the following is true about carbon monoxide ?
a) Single large source is from internal combustion engines

b) Results from the actions of ultraviolet light on ozone

c) Causes acid rain

d) Ozone layer depletion

23 SINIZ NI, 2omUT Sedee & RowodATeS IR V% ?
a) oFSRY BR% BTSRRI oNeZNT wé Beomxgon00s ANST

b) nevedcd ¢orNCTRN bByRe SE0T Soed evotns Jormed
¢) & S BOreTergs

d) t.8ye Ted 9OrD3
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12. Nutritional Marasmus is caused due to the deficiency of

13.

14.

15.

a) Carbohydrates
c) Proteins

b) Vitamins
d) All the above

TPAF0ST OFE 3 8R030200T0N YVOERNZT.

a) W HTE TN
C) Jp eI N

Ozone depletion is caused by
a) Nitrous oxide

c) SO,

L3R’ FOWRODEN 508

a) Jum o,

C) Nogds & &8 &

Tuberculosis (TB) is an example of
a) Pandemic

c) Endemic

go:b dren om@dﬁ Op¥antssiets-lestplalal)
a) 0BT

C) DOTONT®

UV rays are responsible for
a) Typhoid
c) Asthama

UV $0eansd ’adb: F0EONG.
a) &PoE’
C) ©RIR

b) QLT R
d) $eOT TP

b) CFCs
d) Carbon monoxide

b) 2.2F°.2.

d) DWFS BRIRE T

b) Prodemic
d) Epidemic

b) e i
d) AJBRT®

b) Skin cancer
d) Diabetics

b) B¥Sors HIo*
d) n‘?%d F02063
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20. Marine ecosystem does not include
a) River b) Coral reef c) Estuary d) Ocean
Sond $Joxs :ﬁsa’:riai» o o c:?b*mfrimomgﬁ.
d) mno

21.

23.

a) I0 b) dnegy* Deg* c) TOeTRD

Kyoto protocol focussed on

a) Climate change

c) Wildlife

g cedne Tp ctiRemO” ool 0RO
a) ToOTOTIE WHEHRH

b) Biodiversity
d) Forest

b) em FDFS

c) @ae@n’m d) eﬁdﬁ%
Drinking contaminated water leads to

a) Headache b) Fever

c¢) Diarrhoea d) Diabetes
FeoaZ AET, BB OIYHTO 1 o0,
a) 23y b) =3

c) @3 d) Sodoem

Which of the following are the functions of parks and green spaces in urban

areas ?

a) Aesthetic enjoyment

c) Increase in property values
30 FeBn TFF 202 BAD BOODHT FOFRTD CIRHTO ?

a) FPomohF IFFT b) =S RToRIR BRTIND

c) i TP BUPRODE d) FoedT 20T

b) Recreational opportunities
d) All the above
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24. Raja yoga is the yoga of controlling our

a) Sense organs b) Organs of action
¢) Mind d) Our emotions
TRROIRMNS) CARTT VoD eany odpenssonds 9
a) TJeroQond b) $03RFE wonnieh
C) SOIW, d) y=Sned

25. Night blindness is due to the deficiency of
a) Vitamin A b) Vitamin B
c) Vitamin D d) Vitamin C
OXRRYTT FRTSOWOT [T BITIENIYT ?
a) RWITTA b) Qewm B
C) D d) Qe C

26. Quinine is used to treat Malaria is extracted from
a) Eucalyptus plant b) Aconite plant
c) Cinchona plant d) Money plant
doa?e@omdag ROEIBEROS B égtfadcozﬁ U ORITYT

a) 00RFOTT e b) 2BRFEE NE
d) S Tt

c) m@ed falec]

Excess of nitrates in water bodies results the diseases called
b) Fluorosis

d) Asbestosis

271,
a) Neurosis
c) Blue baby syndrome
2¢0TE) TR 0T TR DT WA gren

a) =0 dren
c) Qed dB> Bren

b) TRTBRLAT
d) SRR
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28. Causoes of global warming Is so gases
a) Rocks ! ! b) GreonhoY
{ OCKS d) All the above
¢) Hot air
RAY DERRSS wegrarid Qunwd
a) oot i 5’%? jc::ﬂﬁ
) RS ) & -
phere

29.

30.

31.

Tho gas oxists in the highest concentrat

a) Ozone b) Nitrogen .

c) Oxygen d) Carbon monoxide
1R HRTTRTY 88 TR WoRS ATHE SR

a) LA e b) OIS st
€) SRKIY d) aerRoT SRERT,
The eco-friendly fuel is

a) Petrol b) CNG

c) LPG d) Kerosene
TORT-Feko LAV

a) Sdnes* b) 2. %

C) avf.&u2 d) hem:%;g

Dietary diversity is a
a) Measure of the individual foods
b) Food groups consumed in a given period of time

c¢) Both a) and b)

d) None of the above

STT FIFI0D e

a) T3/ Q05 wricd STRORY L3

b) 0OFT LTHONY FedRT BTT MO sd
c) a) d)g'_g b) 2O&ER

d) S0edF cIRYTe VY
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32. The diseases spread through respiratory route is

a) Influenza b) Mumps

c) Measles d) All the above
YOATORIT RPOT TORT drenned

a) Xpeokd &, b) =oonTwns)
C) Bw0 d) Seds ezp

33. Deficiency of Calcium may lead to a condition called

a) Goitre b) Anaemia
c) Tetanus d) Scurvy
F9,90300 ERT30000T VoM RS0, DFoTd FTBYT ?
a) Mo b) Tg&es3
Cc) el deen d) BOF

34. The water quality is measured by several factors such as

a) The concentration of dissolved oxygen

b) The bacteria level

c) The amount of salts

d) All the above

60T MIEITILI 903%H BLWOTY L90BNPOT LHPODRNZTT
a) FONTS TFT AT

b) ¢3,8£003RT L,

C) ©Eeans TEIED

d) FoedT 2
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35.

36.

37.

38.

(NI

articularly in relation to

The built environment influences the public's health P

iseases
a) Chronic diseases b) Regular dnsesf;
i SEEindT: @) None of 71%° L0 DRToE B
AFAT TOBOR) WSF LS sBRenE ot QOFEFoN T8, RO =
eI,

J : AR
a) DEPFROT TSN b) Q0300% ool
d) @R 2,

c) a) o) b) 2TRER

i lem in
Outdoor air DOllutlon is the major env,ronmental health prob !
b) Developing countries

c) Under developed countries d) All the above
Erosorss ok BROR AE0 Fasd BORG HERET ﬁa’m%odfgo
a) IO Brods Be3nd b) QRO Ty

0) epIn BRoET SeEndd d) SR SR

a) Developed countries

Biotic environment includes

a) Producers

c) Decomposers

2% TOTCTD SBERECBTYT)
a) LUBOTIOD

c) DI

b) Consumers
d) All the above

b) eszoedeennsd
d) FedT QTP

Burning of fossil fuels include
a) Carbon dioxide

c) Higher seas

TPoT0TE QoTING ROTBIF t-aabg{ WIRROBT.

a) wFs’ ¢ o8 & b) wrcInT n®
C) 20T FBNTNE d) Soed3 e)p

b) A hotter planet
d) All the above
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39. The group of organisms which convert light into food are called

a) Autotrophs b) Heterotrophs
c) Decomposers d) Omnivores
WIER ITN TODSF AT 2368 BIOTOD

a) YUTTTWD b) esDorinennied
C) QpEnd d) QoZmoned

40. If waste materials contaminate the source of drinking water, which is of the
following diseases will spread ?

a) Scurvy b) Typhoid

c¢) Malaria d) Anaemia
ot TRINYOT FLIATIT ORI QEOIY, BRI FoOWE
a) ROF b) 00w
c) @oe3edodm d) ©Re003

41. Which one of the following organization dedicated to protecting human health
from environmental harms ?
a) Environment and Human Health
b) Environmental and Scientific Science
c) Ecological Protection Organization

d) Ecological Science and Solutions
24 3SNT 007 BOFOID FOR0 THACWOT BRIVBI ST TR, TEHLO Q0RO 7

a) TOR3 IR aﬂndaf Seloly
b) ©o=C ai)'e"J 53?3?)@'6’ &)mg
c) Zox3 Nodﬁ\ﬁ NOA&’
d) T[oTT MRF OB TBOTITNEO
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42. Whatiis called for the chemicals which emit with vinyl floors ?

a) Pathogens

b) Vinyl oxidize

c) Phthalates

d) Chorines

DF o AR Rrd2eRs TORODIBATR, H3oT $8030%00 ?

a) SRMTIN

b) SFo SIBF

c) SeeFnsd

d) Eecdansd

43. Which one of the following causes harm to human health ?
a) Organic farming
b) Using of pesticides
c) Using solar vehicles
d) Protecting forests
$PNIYrTE oI RIS s&aergﬁé TRV IRRERT ?
a) BIoDI A
b) Zee3moTEne W
c) 720 mm wERID
d) edr-%ﬁ#dgt dz}_;b@zb
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44. The types of health hazards are
a) Physical hazards
b) Chemical hazards
c) Biological hazards
d) All the above
Slelolipta ST ONT PN
a) Q&8 S Sanlevelat=y
b) TERPODNE TN
c) z%;bﬁ ETanleverais)
d) S0edT VTP

45. What is the other name for infectious diseases ?
a) Non-communicable diseases
b) Communicable diseases
c) Non-transmissible diseases
d) Heredity diseases
2 eosR00 TR TRENNPNTS ¢3¢0 BB ?
a) mo@m%afcg,,d grennsd
b) mPCTR,RI8 CRENNED

c) BORET BREnn
d) e0s0ds FORSR
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46. Abnormal reaction to human immune system cause

47.

48.

49.

a) Infection b) Allergy

c) Disease d) Good health
IRIS "Mj’édir:a q,;‘xloi: OXNHE T80 1 Bo0mwerog.
a) Rneod b) esewF

c) deer d) w90 st
Animal(s) which is/are active at night

a) Owl b) Monkey

c) Donkey d) Deer
023,009 3,00 NTIT 70,89

a) ned b) #ned

c) 33 d) 230%

Knock Knee syndrome is caused by
a) Fluoride pollution
c) Mercury pollution
T Ve A0TR,ETT* 00T LVoERNIZT.

a) BT IR b) et SRIT,
C) TTWOR ;n@;g, d) @Squ BRI,

b) Lead pollution
d) Cadmium pollution

The clinical symptoms produced by ozone is
b) Chest tightness

a) Cough
d) None of the above

c) Both a) and b)
LdReaRos m@gmmw Ty Beod ogfamfo

a) 8;’.\:%
c) a) &) b) Q0BR

b) azodb A
d) F0edT cRPTR VO

SPACE FOR ROUGH WORK

45



ML s

50. Eutrophication refers to

51.

a) Increased density of animals

b) Reduced density of animals

c) Increased availability of nutrients

d) Variation on climatic factors

evoulk o e eaai;zt AR,
a) TR,HNY BUE T

b) =,e3n¥ 3RB ToT3

C) TpeTFOBNG BUE Oyi3

d) BPRRT 203nY Boed FA

Congenital diseases are
a) Diseases present at birth

b) Spread from one individual to another

c) Occur during life

d) Deficiency diseases
BOLIROT 208053 BRENNE

a) wIIBEON 0803 Been

b) mgpod ‘333%2%@7? BORIRTO
c) zessn B¥ed 2080R)TO

d) 303000 20053 BRENNE
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52. The Forest Conservation Act was enacted in the year

a) 1986 b) 1974
c) 1980 d) 1972
T Beogrd 50k, ol TRF T 120003 ?

a) 1986 b) 1974
c) 1980 d) 1972

Literate women can help in

a) Reducing infant mortality rate

b) Reducing population growth

c) Promoting female children education
d) All the above

mid &S od}a@cszg TH00303 7

a) STTTEIT, FRBRRVROI T

b) wTTos, IS edriodm) BRI RIRI D
c) Bea, VA &gmddgt 03z

d) S0eOT 2P

Normal body temperature of an adult is about

a) 99.2F b) 98.6 F
c) 94.6 F d) 96.8 F
RERTTRN OB THeTT HUHSID

a) 99.2F b) 98.6 F
c) 946 F d) 96.8 F
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55. The normal blood pressure of a healthy person

a) 100/90 b) 120/80
¢) 50/100 d) 180/120
wdnSeS F3oD WRNE, CIRRIE

a) 100/90 b) 120/80
c) 50/100 d) 180/120

56. |dentify an example of a successful way to dispose of hazardous waste.
a) Putitin a deep injection well
b) Burn it in an incinerator plant
c) Putitina metal cask and throw it in the ocean
d) Buryina metal drum in a regular landfill
TS D, DBee5000I CIBR, DOIBI, noCOSA.
a) &Y PO3ATR TBORTO
b) B ANTeLIT T 0B BOBRIYTO
c) SneEn a’wjododg, 0% mgg PRBITD
d) €rean @;b‘de; o8 rasadedn TOBIRIT

57. Photosynthesis takes place in the presence of

a) Chloroform b) Sunlight

c) Phosphorous d) Polymer
Qéﬁcé@ﬁ o wadxééobémaido&ngd.

a) m;dmmm'r b) RRODFS {vjei. 8]
c) Ooxd d) ORI’

e — - —
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58. The gas used in artificial ripening of a fruitis a
a) Butano b) Acctyleno
¢) CNG d) LPG
{TERNThDLIR wdI eav
a) A b) e O
: d) oo

) T

59. A high level of BOD indicates
a) Water is pure
b) Absence of microbial action
c) Low level of microbial action
d) High level of microbial action
woFS SouE 0% eabnas weadodo planv) RRuIR3T
a) g b
b) 223 ety 80 veOT0E
c) s‘#:&:u‘_;s RRw, 0 2end 80D
d) wvEs SoUE Rew, F0 welnd 30D

Among the following which is the best indicators of water pollution due to

mixing of human faeces ?

60.

b) Bacillus
d) Trypanosoma

a) Paramecium

c) E.coli
s bt wootRrtd 203 IR I E 51 EING o a0l RRUEETRNDET 2
a) mdc:.-:,cem‘ 0 b) waawx*

d) ¥ T3REAd

~en®
C) {;le.o.-.a
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61.

62.

63.

PAN is a

a) Primary air pollutant

b) Water pollutant

¢) Secondary air pollutant

d) Soil pollutant

.8 (PAN) 202030

a)u TR, BT 000 ODETTTY
b) =® OeTF0T

C) .30 o3 DeTF0T
d) e VeS8

The first country which reorganized the air pollution due to industrialization is

a) India b) America

c) England d) None
EfppleLicieiolaltanly mmogm SoooRepeRG ST BB
a) T3 b) esdocdm

C) oriow* d) cIRPYHue vy,

The following chemical is used for ‘artificial rainfall’

a) CusSO,

b) NaCl

c) Kl

d) HgCI2

‘gZ5 VT 5 TR0 OIRBRD), LRI
a) BTT’ BYK

b) Zre@olo EREGT"

c) Zpimrodo DR T

d) =8R,F0 8RGE
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64.

65.

66.

67.

Vaccination is a major control measure for
a) Genetic diseases

b) Long term degenerative diseases

c) Nutritious deficiency diseases

d) Infectious diseases

e TIDJTocs wﬁtiw&md deen

a) e30Tcdeod deen

b) DerHod I3 e

c) SPaFo0o8 808 Bren

d) Rreodd deen

The pollution of water includes

a) Physical b) Chemical

c) Biological d) All of the above
208 TROTR) LITROBTIYTO

a) o83 b) TomPODT

c) ¥oE d) 30O QTP

Process through which plants reproduce
b) Evaporation

a) Eating

c) Pollination d) Condensation
AERY Zosseed § T3 od

a) édg{@% b) zaaeieﬁdsa
C) TooNRTF d) e80T
Which of these is not a process of cognition ?

a) Perception b) Attention
¢) Memory d) Sleeping
B3 EINTINGEY, o3RO 2 q;fd | R@ees 8030030 ?

a) riid b) NI
c) I3 d) :oagam@
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68. Dress for Yoga practice should be
a) Tight fitting jeans
b) Protective covering from head to toe
c) Costly and sophisticated dresses
d) Loose fitting and comfortable
SRR Y, dRenT YOET
a) WNOIRNTIT 2",
b) ©&0200T IBOTBA aimi%d LOBIR)
C) Toed =B 8630088 YR
d) ©DACINNTT =02 &3FT ROD)

69. Chakras and Nadis are components of which Kosha ?

a) Annamaya b) Pranamaya

c) Manomaya d) Vijnanamaya
R Bo%) AR oI 3230 NRTINES ?
a) e_:i:bodo

c) SoFReToD

b) 2,£93003
d) 23 Fo0D

al decomposition of organic matter in controlled condition is
b) Incineration

d) Pyrolysis

70. Biologic
a) Sanitary landfill
c) Composting
STRFE IRUOI 2030083 TORSODE, 208 DPLFCIRTOTO Bert
b) TeRoNG

a) ™, BROB
d) FPBReOR

c) riewp
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Pl b e deidalilnaudl

Il Semester B.Com. Examination, September/October 2022
(CBCS Scheme) (Repeaters)
COMMERCE
Paper — 2.5 : Banking Law and Operations

Time : 3 Hours Max. Marks : 70

Instruction - Answer should be written either completely in English or
in Kannada.

SECTION-A

1. Answer any 5 of the following. Each question carries 2 marks. (5%2=10)

a) What is negotiable instrument ?
2,038 [rRF e T, QOTBERD ?

b) What is general lien ?
WIRT, RDIARSED TR, QOTITEID ?

¢) What is material alteration ?
DIIH WBRTHBNR 0TTED ?

d) What do you mean by dishonour of cheque ?
&RRFCLMR0B B, Q0TTED ?

e) What is a joint account ?
2083 2393 0TBeR ?

f) Expand RTGS and ATM.
RTGS =3 ATM 3, DF0A.

g) What do you mean by holder of value ?
ToUES T)STOT VTF VX,

P.T.O.
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Answer any 3 of the following. Each question carries 6 marks.

2.

Answer any 3 of the following. Each question carries 14 marks.

7.

10.

11.

SECTION - B
(3x6=18)

Explain the different types of endorsement.
NP o LowoxTny wr}\ SO,

Distinguish between general lien and particular lien.
ORRT, WHIID a:ﬁaome‘g aar:;; &nl (Al Sﬁ%ﬁv BT aﬁquﬁngz ?

Narrate any six reasons which are significant for dishonour of cheques.
WXNFO, TOYIOTLY cdRFTTR ST FTENTY, B JTOA.

What are the precautions to be taken by a banker while opening the account

in the name of joint stock company ?
EDCIOLT WFF ToTR BITY 2503 380300 13, 08T SNRTRRTFTIETT Soon,3

&onsh AR ?

State the merits and demerits of ATM.
2.83.057. T B0TRY IR @mmﬁmvé’n@@ 3D2.

SECTION-C
(3x14=42)

What is endorsement ? Explain the various types of endorsement.
QOBRET FHO0EF 0TV 7 STT AFNT ORI ? N[OA.

Explain the general relationship between Banker and Customer.
~2) 0TT°S SR o, TTI abz;i:s 2003 xowoﬁﬁm DTOA.
Explain the precautions to be taken by the banker in opening

a) Minor's Account

b) Trust Account.
B3 TN m@ﬁ#ﬁg{ 380335000 mdom 3ﬁc$>ﬁm€;a3mcs mg%&ﬁﬂm SSON.

a) &7, FODATII B

b) =3, 750 2593.

Briefly discuss any seven recent innovation in banking business.

13, 080TV T, FTHONYE, DG CARTTe D eI ernd wrf JodTon wWuFA.
Who is a paying banker ? Explain the statutory protection available to paying banker.
TTIIT LI, 08T 2003 cdRDd ? TSITT LI, 0TI AT SRRV, DWOA.
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